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QUESTION 1

What is the most problematic issue about the workflow shown below?

' |'.!hij iR fi|""'iﬁ'i.;flf’l.'!lll'.||J]ﬁfﬂﬁ

A. The end activity will cause all records in the context to be removed from memory.

B. The split might fail causing no deliveries to be sent.
C. The two deliveries will be sent concurrently causing issues with the MTA.
D. The query may not have been completed before the scheduler runs again.

Correct Answer: D

QUESTION 2

Which assessment should you use to hide a container in a form when gender is equal to a value of 1?
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A
<container type="enabledGroup” wvisiblelf="Egender=1">
</container>

B.
<container type="visibleGroup” expr=“{lgender=1“>
</container>

C,
<contalner type="visibleGroup” wvisiblelf="Egender=1">
</container>

0.
<container type=“containerGroup” visiblelf="{fgender=1">
</container>

A.B.C.D.

Correct Answer: D

QUESTION 3

Which is required when creating a new Plan?
A. Description

B. Parent

C. Start and end date

D. Nature

Correct Answer: D

Reference: https://docs.campaign.adobe.com/doc/AC6.1/en/
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QUESTION 4

Which XML element correctly defines a 32-bit integer field?
A.

B.

C.

D.

Correct Answer: B

Reference: https://docs.campaign.adobe.com/doc/archives/en/602/configuration-v6.0-en.pdf

QUESTION 5

A store runs a satisfaction survey every year. The purpose of the survey is to measure the change in satisfaction over

the years.

How should you store the survey responses?
A. At attribute in the recipient schema.

B. An archived field in the survey.

C. An attribute in the broad log schema.

D. A database field in the survey.

Correct Answer: B
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